N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

[%] n n

() o [}
] = S
£ k=l =
g g &

[S]

g 2 g
= 7] =

Q c Q

g S g
= s T O SO A o b

@

i=l =

I T

o o

0.05 ; ; ; 0.05L ; ; ; 0.05L ; ; ; ; ;
10—2 10—1 1 10 102 10—2 10—1 1 10 102 =30 -20 -10 0 10 20 30
TP vertr (cm) TP vertr (cm) TP vert z (cm)

| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |

2 n 2

o Q o

= [3} =

° = °

2 kS o]

(S} (S}

2 2 210"

%] hv4 %]

c Q c

8 g 8

o] = 9]

o @

L2 F o [ ] =
5 I g I 5 g
04 N o [ ] [
0.5_— -------------------------------------------------- Fememe et ‘.._‘._E. ——te e m e L EEEEE __
o ; ; ; ; ; oosbi i v b ok ; ; ; ; ;
-30 -20 -10 0 10 20 30 -4 -2 0 2 4 6 8 10 -60 -40 -20 0 20 40 60

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


